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Complex Number Revision

T&T6 Chapter 3

I. Simplify v80 — v20, expressing your answer in the form a/b where a,b € N.

= [lexg - [4 xS
= Y53 - 255

= 28§
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2. (x—1)+yi=y+4i:findxandy.

3.

LHS RHsS

Re,’Qe X-t=1%
nn = e y=t

=

Z = ’,Ot 1]01',(-'-&(

X—1=¢
= X=65v

da

May 01, 2014

Solve the equation z? + 4z + 3 = 0, giving your answer in the form a + b
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4. Given z; =5+1i and z, = =2 + 3i.

(i) Find (z,)?
(i)
(at)"= a*+2ab +°

(i)
Mmodulus
|a+bi\—— ,Eﬂl?'*' b

(ii) Show that |z,[> = 2|z,?

2= (ﬂ")-L = 25+ 100 :—‘Yi
= 24 +10

2| =|54i]= J57+1* = Ize
(2] = (J2) = 25

2. = -2 pul=J2 43 =013

2|z 2 (@)= 203) =26
> [2)%= 2z

5. Let z be the complex number —1 + V3i.

(i) Express z?

in the form a + bi.

(i1) Find the value of the real number p such that z> + pz is real.

()
(a+o) =" +2ab th*

(i) 224 f,g_—,;ew(

f')alt = 01

z"——(—u—ﬁi)1

= | -25%i + 3
= -2 -233\

Z2%+pz = —2-283i +p(-2-2%)
= —,~28] - 2p-2p§3i
=(2-2) —(253 +2p53) |

Real Mah\qu

2 2fvr 2p8 =0

253 p = -253

=-283 = !:p
f 25 7 )=
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